
machine assembly instructions:It is best to fix the 
fuselage on the installed support first

KRAFT PAPER MACHINE

Foot switch

Touch screen
Power cableOutlet

Adjust the position
 of the screwdriver



Step 2

T-type hex box wrench T25

2 Torx screw M5*18

4 Lock nut M4

(including flat washer of M4)
7mm Socket wrench

14 Hexagon cylindrical head screw 
combination M6*16

Allen wrench M6

Step 1



Step 3 Step 4

Touch screen

Foot switch

Power cable


	1
	2
	3

